£ 219602

g 120 litre’
%, 140 litre o/




PART NO

DESCRIPTION

120 IitreX
140 litre 3/

628001

5 LITRE PAIL RED

628002

5 LITRE PAIL BLUE

628003

5 LITRE PAIL GREEN

628004

5 LITRE PAIL YELLOW

628011

10 LITRE PAIL RED

628012

10 LITRE PAIL BLUE

338196

3 PIECE LID ASSEMBLY (120L) (BLUE)

229627

BAG FRAME INSERT (BLUE)

219602

NO6 X 1 INCH LONG POZI-PAN SCREW

223127

COLOUR CODE DISC (RED)

223128

COLOUR CODE DISC (BLUE)

223138

COLOUR CODE DISC (DARK BLUE)

338227

LID SUPPORT FRAME WELD ASSEMBLY (STAINLESS STEEL)

418587

LID SUPPORT FRAME (PAINT SILVER)

206852

HANDLE GRIP (GREY)

219802

M6 CONNECTING SCREW C/W SLEEVE

227483

BAG FRAME PIVOT (RH.)

227686

BAG FRAME PIVOT (L.H)

418820

FRONT UPRIGHT FRAME (PNT SILVER)

338650

FRONT UPRIGHT FRAME (STAINLESS STEEL)

418918

REAR UPRIGHT FRAME (PAINT SILVER)

27

0000

338652

REAR UPRIGHT FRAME (STAINLESS STEEL)

20637V

TUBE END STOP(25.4MM)

20638V

TUBE END STOP(19MM)

223301

CLIP ON TRAY (PLAIN) BLUE

223302

CLIP ON TRAY (DIVIDED) BLUE

206863

TRAYLOC ATTACHMENT

338920

TROLLEY BASE (BLUE) ASSEMBLY C/W CASTORS

204093

200MM CASTOR

338895

TROLLEY BASE (PRINTED NUMATIC)

206990

TROLLEY BUFFER EXTRUSION(GREY)

391227

19.05 O/D X 18G X 0.950 LONG MILD STEEL TUBE

223391

L.H. BUFFER CAP

223392

R.H. BUFFER CAP

219826

NO8 X 1 1/4 INCH LONG POZI DRIVE COUNTERSUNK HEAD SCREW

219842

M10 X 20MM LONG COACHBOLT

219649

M10 NYLON INSERT NUT

219008

M6 FORM G WASHER

219839

NO 8 X 11/2 INCH LONG RAISED COUNTERSUNK SELF TAP SCREW

219841

1 INCH SPIREFIX

227479

BUFFER

227972

BAG SUPPORT TRAY (BLUE)

219054

M5.20MM LG.POZI-PAN.SCREW.Z/PL

219554

ALLEN KEY 5MM X 85MM LONG

219555

M8 X 25MM LONG SOCKET BOLT

221154

M8 FORM C 21MM WASHER

629064

TRAY-FIX MOP STICK HOLDER BLACK

629065

TRAY-FIX GENERAL HOOK BLACK

219318

NO6 X 1/2 INCH LONG POZI-PAN SCREW

604200

ROLL OF 20 X 70 LITRE DISPOSABLE BAGS

SRIEPAT

so6s00 @

e

234623 VCN/VCS-1804 TROLLEY ASSEMBLY DRAWING(EXP-1051)(A02)

VCN/VCS-1804

PHOTOGRAPH INCLUDES ;
EXTRA ITEMS FOR ILLUSTRATION PURPOSES




